
2023—2024 学年高三年级九月份质量监测 

物理答案 

1、C  2、B  3、B  4、C  5、D  6、C     7、AD   8、 BC      9、AC    10、ABD 

11.（5 分， 每空 1 分） 

（1） B   （2） ①11.1    15.6    0.75    ②6.0×10-7 

12.（10 分，每空 2 分） 

（1） A     （2）
𝑑

𝑙𝑡
    （3）

1

𝑡2
        

𝑚𝑑2

𝑙
    角速度平方 

13.（8 分）（1） 方法一： 𝑚𝑔ℎ − μ𝑚𝑔
ℎ

sinθ
cosθ =

1

2
𝑚𝑣B

2（3 分） 

𝑣B = √2𝑔ℎ − 2μ𝑔
ℎ

𝑡𝑎nθ
（1 分） 

方法二：mg sinθ-μmg cosθ=ma（1 分） 

 2𝑎𝑥 = 𝑣B
2（1 分） 

 𝑥 =
ℎ

sinθ
（1 分） 𝑣B = √2𝑔ℎ − 2μ𝑔

ℎ

𝑡𝑎nθ
（1 分） 

（2） x1=v0t（1 分） 

 𝐻 =
1

2
𝑔𝑡2（1 分）   x2=L+x1（1 分）      𝑥2 = 𝑣0√

2𝐻

𝑔
+ 𝐿（1 分） 

14.（1） 

 𝑚0𝑔𝑙 =
1

2
𝑚0𝑣

2 

 T −𝑚0𝑔 =
𝑚0𝑣

2

𝑙
（每式 1 分， 共 4 分） 

 𝑣 = √2𝑔𝑙 = 5m/s 

T=3m g=30N 

（2） m0v=m0v1+mv2（1 分） 

1

2
𝑚0𝑣

2 =
1

2
𝑚0𝑣1

2 +
1

2
𝑚𝑣2

2（1 分） 

 𝑣2 =
2𝑚0

𝑚0+𝑚
 𝑣 = 2.5m/s       （1 分） 

Mv2=（m+M）v3（1 分） 𝑄 =
1

2
𝑚𝑣2

2 −
1

2
(𝑚 +𝑀)𝑣3

2（1 分） 

Q=3.75J （1 分） 

（3）{
μ𝑚𝑔𝑙 = 𝑄
𝑙 = 1.25𝑚

（2 分） 

15.（1） 

F=BIl 

 𝐼 =
E

𝑅
总

 

（每式 1 分，共 5 分） 

E=Blv 

 𝑅总 =
𝑅

2
+ 𝑟 



v=2.5m/s 

（2） 

 𝐹𝐿0 −𝑊 =
1

2
𝑚𝑣2（2 分） 𝑄1 =

1

4
𝑊（1 分） Q1=1.875J（1 分） 

（3）𝑞 =
B𝐿𝐿0

𝑄
总

= 4C（2 分） 

Q1=2C（1 分） 

16.（1）（4 分） V1=V+nV0     T1=27+273 K=300K    T2=33+273 K=306K   P1=1.0×105Pa 

 
𝑃1V1

T1
=

𝑃2V2

T2
P₂=3.06×105Pa 

评分说明：结果一分，求解过程 3 分 

（2）
𝑃2

T2
=

𝑃3

T1
（2 分） 

P3=3×105Pa>2.7×105pa（1 分） 

 𝑝₃V = 𝑝V′（1 分）     V=2L         𝜂 =
V

V−V
=

1.8

2−1.8
=

9

1
（1 分） 

 

 

 

 

 

 

 


